
 

 
 

38 - (Eear 2016)  Read the text below and answer the question. 
 
Economists have recognized that physical beauty affects wages, 

even in occupations where appearance does not seem relevant to job 

performance. It seems that attractive men and women are paid more 

than ordinary people for the same work. 

 
(Taken from The International Herald Tribune) 

 
 
Choose the best alternative that presents the correct verb tense and 

the voice of the verbs underlined in the text, respectively. 

  
a) present perfect/active voice; simple present/passive voice.    

b) simple present/passive voice; present perfect/active voice.    

c) simple past/passive voice; present perfect/active voice.    

d) past perfect/active voice; simple present/passive voice. 

 
 
 
 


